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oth Level

or

evough/vot enoungh?

Complete the sentewces- Use too, enough or ot enough and the adiectives into brackets.

They are (young) +o drive a car.They are owly 16 years old.
Wammy, T am (old) +o 9o out with my friends.
The weather is vot (warm) +o go out like that.You need a coat,
WMadrid is (Vig) for me.
Her village is not (Wig)for her + olive there.
The ugagae is (heawy)+o carry,
The room is vot (warm).Can T turv on the heating?
The corridor is (dark).Can vou turn o the lightd,please?
He was (tired)and went +o bed.

. You were wot (healthy) and decided +o go +o the doctor,

. I can'+ jump!I+'s (high)!

. She needs a vew car. Her car isn'+ (fast).

. He will move to a vew house because his house is (small),
we will move +o a wew house because our house is vot: (big).
T will vot move +o a new house because this is (big).
He likes that waisteoatbut it is (expevsive).
Sheila likes these leggins and they are (cheap)so,she will buy them!
I+ was raining cats and dogs!The garden is (wet)now.
These activities are (easy) to be solved.

20. Tests are wot (difficult) We can all pass +heml




